52 G8 CH 6 WS 7 Squares and Square Roots

Squares and Square Roots: Worksheet -7

1. 5929 students are sitting in an auditorium in such a manner that
there are as many students in a row as there are rows in the

auditorium. How many rows are there in the auditorium?

2. The area of a square field is 5184 m2. A rectangular field whose length

is twice its breadth has its perimeter equal to the perimeter of the

square field. Find the area of the rectangular field?

Grade - 8 A www.thirdapple.in 1
—




